Ay = 29&;0-/-1»;1/% (2‘?5—?,98)

_(a)‘ Ié? = 23e0 /A 7 q‘“/‘3 :[1/5;3{?3 - I/SJZZEZ]Z

ZLS"ZLz
| 4e M%,M,/ - =[‘X’&2? +ag;ﬁ7/z,

’ T +7% __/
(75, 9%5*

=

g
=)




0068 1 2759 xt = 0302 g7, v xt

/

z _ 1 " -
x (2/5?91 22 10 /—ZZ\ - QSO?“"O-/;"_D?_J o




" L ¢, o7 e e
/(79 ' &5 :[ﬁéw 4,—0<M M 0‘_(;: =73 Xy

N | S B -2, =l )
] e e Y i
i

7

@ o A Vy (Tnolneged

L@ DAl — Tr et o bift ' cllorge i,
| Cratrtimind a5 Ling ol gemme plicc
2. Lolzp ———;MJ%"( Wﬁé—vyy




<5 & Lu‘jéy $/’:'ﬂe é@% f‘z/lh.fl‘y %’Z/j /&?ﬂfﬁ

SH_ Loy bl lowsalinty = o
ss & /loy o/ = %‘%e

a (2/6/’:2 72on)









: = { - 7 = ZIPp 21
i & 3ep :_\)VQYZS:DKZM‘
| _ Ox0SPOxzpp0
R S T = NI G e f»//w?/é,
S G A s el Zomn vt rae ct?
' 752 //0#5
|
@)
\/,p::cf—Zs‘Da%z, ‘t/ﬁ_




